

$$\begin{array}{c}
 3 \times 432 = 1296 \\
 \begin{array}{c} \text{432가 } \frac{1}{100} \text{배가 되면} \\ \downarrow \end{array} \quad \begin{array}{c} \text{1296이 } \frac{1}{100} \text{배가 된다} \\ \downarrow \end{array} \\
 3 \times 4.32 = 12.96
 \end{array}$$

$$\begin{aligned}
 & 3 \times 4.32 \\
 &= 3 \times \frac{432}{100} \\
 &= \frac{1296}{100} \\
 &= 12.96
 \end{aligned}$$

$5 \times 2.15 = 10.75$

3×1.45

2×1.65

4×2.34

6×1.69

8×1.47

2×1.51

9×2.32

7×3.13

3×21.21

4×31.31

5×24.24

22×1.59

11×1.32

44×2.14



정답